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7 ~ The AAA Airlines Corporation is considering two alternative planes. Plane A costs
$500,000 but will produce expected after-tax cash inflows of $300,000 at the end
of each of the next 2 years. Plane B also costs $500,000 but will produce expected
after-tax cash inflows of $165,000 at the end of each of the next 4 years. Both
projects have a 10 percent cost of capital.

(—) Assume that these are mutually exclusive pro_]ects that are not repeatable.
‘Which project should the company accept? Why? (5 47)

(Z) Assume that these are mutually exclusive projects that can be repeated
indefinitely over time with the same expected cash flows. Which project
should the company accept? Why? (5 53)

7~ A call option on the stock of WWW has a market price of $7. The stock sells for
$30 a share, and the option has an exercise price of $25 a share.
(—)What is the premium on the option? (5 439
(ZZ)Which of the following events are likely to increase the market value of a call
option on a common stock? (5 43}
1. An decrease in the stock’s price
2. Anincrease in the volatility of the stock price.
3. Anincrease in the risk-free rate.
4. A decrease in the time until the option expires.
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1+ - The following table shows estimates of risks of two stocks during the five years

ending December 2005.
Standard
Stock Deviation R-squared Beta
X 50% 0.36 1.2
Y 25% - 0.64 - 0.8

(—) What is the firm-specific standard deviation of stock X and Y? (5 43)

(=) Suppose we form an equally weighted portfolio of stock X and Y. What
will be the standard deviation of that portfolio? (5 43)

J\ » The NTCB Company has the following financial information:
Tax rate, T=35%;

EBIT=%$4.7 miilion;
Cost of equity, r:=15%;
Value of Debt=$2,000,000;

Cost of debt, rs=10%;
Shares of stock outstanding, ny=600,000;
Stock price, Py =$30.

Since NTCB’s product market is stable and the company expects no growth, all

earnings are paid out as dividends, The debt consists of perpetual bonds.

(—) What is NTCB’s weighted average cost of capital (WACC)? (5 43)

{Z) Suppose the NTCB can increase its debt so that its capital structure has 50
percent debt, based on market values (it will issue debt and buy back
stock). At this level of debt, its cost of equity rises to 18.5 percent. Its
interest rate on all debt will rise to 12 percent (it will have to call and
refund the old debt), and its cost of equity will rise to 17 percent. What is
the stock price after the repurchase? (5 43)
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71~ XYZ Inc. has never paid a dividend, and when it might begin paying dividends is
unknown. Its current free cash flow is $100,000, which is expected to grow at a
constant 8 percent rate. The weighted average cost of capital is 10 percent. XYZ
currently holds $600,000 of nonoperating marketable securities. Its long-term debt is
$1,000,000, but it has never issued preferred stock. .
(—) ~ Calculate XYZ’s value of operations. (5 47+)
(Z) ~ Calculate the value of its common equity. (5 43)



